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Differences
● Group 3, had different ordered graphs (A,B,C, etc.) 

● Group 1, had a different description for graph B b/c they did not pay 
attention to the slope

● Group 1, had a different letter for graph F b/c they did not realize that 
there were two 3 seconds on the chart, meaning that the person would 
have to be in two places at once.

● In group 3, they put the R table with graph F rather than graph H b/c we 
did not see that there were two 3 seconds on the chart, meaning the 
person would have to be in two places at once



Most Accurate Board


